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Answers:

1. Yes. High temperature difference, rising 
barometer, long fetch.
2. No. Winds from the south would not cross a lake 
to reach Erie, PA. The temperature range is too 
narrow.
3. No. Low pressure is west of Kingston. It must be 
east and followed by high pressure.
4. Yes. There is a very wide temperature difference 

and a long fetc. Expect heavy snow for the same 
reasons.
5. Yes. The fetch over the lake is not long but there 
is a fetch over the industrial area of Gary, Indiana. 
This adds heat and ice-forming nuclei to the air.
6. No. Stevens Point, Wisconsin, is not on a lake.
7. No. Winds don’t pass over water to reach 
Duluth.
8. No. It’s summer, silly!

Source:

Val L. Eichenlaub, Weather and Climate of the Great 
Lakes Region, University of Notre Dame Press, 
Notre Dame, Indiana, 1979, p. 162. (Used by 
permission.)
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